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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['1I", "lopt’], ['T, "Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
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Trend plot forP3-4 0
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P3-4

BfiE) | EBEETIC (FD) | EB=E (BAH/HK) | XK R

01:30 109 70.0 A 1BR1&@01:30 (R FHfERLES)
02:30 109 70.0 1] FiHR@02:30 (KRF1EEES)
03:30 109 70.0 & F#A@03:30 (KAL)
08:00 109 70.0 5 FiHAe08:00 (FKF{ERLEE)
09:50 109 70.0 & FHB@09:50 (KRF{ERLEE)
11:10 109 70.0 & FEAe11:10 (REAMEREZ
12:25 109 70.0 & FiHpe12:25 (KRF{ERLEE
13:40 109 70.0 & FnHRe13:40 (KRFEEREE)
15:05 109 70.0 & FnHfe15:05 (KREERSS)
21| 981.0 (9%) 630.0 EWGHKEC: 1900.0, PH: 6.5
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REXR BB HEREC/PHEER K, 7T

VNN =A
BEFZ

MR R 56




FRV (ml plant-1)
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P3-4 0, Day=9 (2025-04-07)
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P3-4

BfiE) | EBIET (FD) | EE (EH/AR) | XK R

06:40 120 80.0 5 318006 :40 (K FEREE)
07:40 120 80.0 |Z =& Bi%@07:40 (RFERSE)
08:40 120 80.0 5 Bi%@08:40 (KFERKSE)
10:15 120 80.0 5 B18010:15 (RFERE)
11:50 120 80.0 5 Brig@11:50 (FRFERSE)
13:25 120 80.0 5 Bi%@13:25 (KREEHSE)
15:00 120 80.0 |Z = B1%015:00 (RFERSE)
=23t| 840.0 (7% 560. 0 3EGHKEC: 1900.0, PH: 6.5

large discrepency for begining water status (132:282.0), set to 162.0 ml.
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P3-4
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12:20 180 90.0 5 Brig@12:20 (KFERSE)
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Bit| 900.0 (5%) 450.0 3ZFHKEC: 1900.0, PH: 6.5
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large discrepency for begining water status (114:273.0), set to 146.0 ml.
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=2it| 420.0 (2%) 260.0 $3#KEC: 1900.0, PH: 6.5

large discrepency for begining water status (63:276.0), set to 106.0 ml.
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